b IR 20234E R 222 T N i
FHIS A 122 D S L 24

% BB BELL ESY. =
iR SRRy A 83 x
S8 5 SRR ) 79 %
T R R ) 79 %
5 8 R R Shpl 76 66
% SR %§§§5 72 79
ERE SRRy ) 64 x
B SRR ) 63 %
A R Pk 55 o
F AR PEE A 85 68
i SRR o 69 51
HiE FREAL P 68 53
SR SRR e 61 57
i R f R 58 56
(O S AR PEE A 52 53
P 2 f LRI 87 75
LK SN e 2% 85 59
Pt Tl AL s =2 81 69
Fef3 2 f AR 80 60
B2H A=A ZRHE 80 74
S 2 f WRIETS 80 56

s




bR ISR 20234E R 222 ) N i
T TR RE A A S Ve i

" REFLIHE REZ W RIBR S FRHRE RS
JAZ kAL PRI 80 56
SEIL i Bk iepr s = 2 77 57
AR SR A JUEME 76 56
5K ik SR A SRR A 76 53
B85 Rl A=L A PRI 25 75 62
I SR A SR 75 67
FH 1T 5 SR A LR A 75 64
[ Tl A i e 2 75 65
g Rl 2 A SRR 75 63
KB SRl A TBUR 514 5 74 60
J7 /N k2 pr AR 73 58
FEIF SR A JBUR 5145 72 58
T SR A VTR 72 53
v SR A SRR 71 54
FAE R Ej@;’i%ig 71 56
I Rl A=L A SR 71 59
Wik 2% A& 2 A LR A 71 65
BE Rl A= A BRI 25 71 61
Ny Rl A=L A FRER 69 61
BNk A2 A SRR A 68 53
SR Rl A=L A B Vs 68 78




bR ISR 20234E R 222 ) N i
T TR RE A A S Ve i

HH REFMER wEZW RIERRS FREZE RS
Edfe AL e 67 52
LS LAlA== A R = 2 66 67
S| L2lA== D2 R AR 66 52
RE LalA=2 D2 AR 66 58
X LalA=2 D2 L 65 61
&N LalA=2 D2 RN AR 64 54
JE i LAlA== A R 64 68
/AL L AlA=2 DA WEL 63 58
HEE AL HR A} 63 50
BEW L alA=2 D2 PR 2 62 54
R Bk AEpr s = 2 60 72
Wi e LAlA== A G 59 57
X1 PR L AlA=2 DA ST R 57 70
HiE 75 LalA=2 D2 SRS 56 58
Wi BB AL HR 56 68
5K JEE LAlA=2 D2 WEF 56 65
KN LA I PR A 5512 W 27 55 59
BT L AlA=2 A GBS 54 51
XI| LalA=2 DA HhRE: 53 66
X1 LalA=2 D2 HhR}E 52 65
S LalA=2 D2 WERF 51 62




Bl 2 2 R 220234 [RS8 N I

HS - AR I A R

Ha REZ LR wEEZA BB FREE RS
BB =2 A} 51 56
TH & =20 M = 2 50 59
















